DERIVATIVES OF TRIGONOMETRIC FUNCTIONS

1 Differentiate with respect to x:

(@) sin3x (b) 3sinx (c) cos2x (d) 2cosx
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2 The derivative of cos® 5t is:
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3 Differentiate with respect to x:
(a) sinxcosx (b) xsinx (c) 2xtanx (d) X*cosx
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DERIVATIVES OF TRIGONOMETRIC FUNCTIONS
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5 Differentiate with respect to x:

(@) cos’2x (b) sin®3x (¢) cos’x (d) cos(x")
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DERIVATIVES OF TRIGONOMETRIC FUNCTIONS

6 Find f’(x) for f(x) = 3sin % -4 cos3—£‘- - x°. Indicate whether each statement below is a correct or incorrect

step in finding f’(x).
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(@) Vsin2x (b) (sinx—cosx)’ (c) sin’x+ cos’x
_|/ /
v / ;
"7’ E(n]: (/50*2’(—) d 66(.) = .ZI-_@V\ZK X (/HWZ)L
/() | X)) calx = A2L
N =2 ————— e =
= 2 ey

J)) [/MX- *cwx)z-:./ﬂﬂ‘mz'x ~ D amx ez + @tx

S = | =2 olniklnite | aWde

%%ﬁ): -2 nlx

C) /31\/121 + stz =|
/30 f%ﬁ):o

Section 2 - Page 4 of 6
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8 Differentiate with respect to x:
(@) €sinx (b) e*cosx () e"sin3x
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DERIVATIVES OF TRIGONOMETRIC FUNCTIONS
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